Warm Up 10-30-2018

. Find the slope:
a) (-8,4) & (-2, -6)
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1. Create a table using f(x)=2x* - 3 for he’domain

of {-5, -3, 0,1, 4}
F8)= 269=3=47
F(-=2(3-3=I5
§00)=2(0Y-3=-3
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CINY=Z (3=~
ay)=2)-3=21
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Horizontal Line  Slope = zero Equation: y = #
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Slope= Undefined
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Equation: x






yv=mx+Db

/

m= slope b= y-intercept

*where the equation
crosses the y-axis






Given a value for m and for b....write an equation

You Try:

m= 10 Y=10x-2%
b= -3






Given a value for m and for b....write an equation

You Try:

m= 5/4 5:% X+
b= 7
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Given a table, write an equation in slope-intercept
form

You Try:

A4 A
OX 1123 4|5
T[Ly 1/3/5/7 9
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+2 Y= Y2 {2,
527

Mm=2_ p=-






